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Q.1 o1 foneft $9«1 & 'wRaE (Forward)' e WR feRTer & €, at aam glam 82
Ans o 1. RIS 399 Ue Y $0 ST H iUt gt SraT 81

X 2. 300 wrft ®u 9 f3efte g S g1

/5 3. 30 sifchfen wu ¥ Ot diaed ol Uit gt ST 81

X 4. T sieh $9 SiYH BT &1

Question Type : MCQ
Question ID : 44100935680
Option 11D : 441009142256
Option 2 ID : 441009142258
Option 31D : 441009142257
Option 4 ID : 441009142255
Status : Answered
Chosen Option : 1

Q.2 WRA & IR-ufF+ht s & fgwrera udawren o s sifafaars aar &2
Ans X 1. gd-afgor

< 2. g

X 3. 3wR-ud  efgurufgm

o 4. IIR-UYA § fPorgd

Question Type : MCQ
Question ID : 44100927663
Option 11D : 441009110200
Option 2 ID : 441009110202
Option 31D : 441009110199
Option 4 ID : 441009110201
Status : Answered
Chosen Option: 3

Q.3 ST9 HUE U A1 I 8T g al sreaAnder S et Y 21fh wrpufa ot fhw orgede & dga verH fi
T 8?

Ans o 1. 3735 123
X 2.9/ 110
X 3. srgede 356
X 4. 3rgede 72

Question Type : MCQ
Question ID : 44100927051
Option 11D : 441009107784
Option 2 ID : 441009107783
Option 31D : 441009107785
Option 4 ID : 441009107786
Status : Answered
Chosen Option : 1
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Q.4 ¥ &ret & R F=fafaa & @ sia-ar fRieuer du 78 ar
Ans X 1. 9TgeR SR @Ry

X 2. F%R

X 3.9

o 4. Saifadt

Question Type : MCQ
Question ID : 44100924897
Option 11D : 44100999302
Option 2 ID : 44100999301
Option 3 1D : 44100999303
Option 4 1D : 44100999304

Status : Answered

Chosen Option : 1

Q.5 fA=faf@a d @ fFa Tauy el thaei= @l IUUhT Y&areds A (humeric value) @i T fafare
Thide aret ¢ae | uRafdd & & forg far sman 82

Ans o 1. TEXT()
< 2. FORMAT()
2< 3. NUMBERTOTEXT()
< 4. VALUE()

Question Type : MCQ
Question ID : 44100935461
Option 11D : 441009141383
Option 2 ID : 441009141384
Option 31D : 441009141382
Option 41D : 441009141381
Status : Not Answered
Chosen Option : --

Q.6 Who among the following established the Bengal Chemical Swadeshi Stores?
Ans X 1. Dadabhai Naoroji

" 2. Acharya PC Ray
25 3. Surendranath Banerjee
X 4.BG Tilak

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
44100924961
44100999555
44100999556
44100999554
44100999553
Answered

2
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Q.7 Which country proposed the idea of holding a United Nations conference on human
interactions with the environment in 1968?

Ans X 1. United States

/< 2. Canada
" 3. Sweden
< 4. France

Question Type : MCQ
Question ID : 44100927246
Option 11D : 441009108547
Option 2 ID : 441009108548
Option 31D : 441009108550
Option 4 ID : 441009108549
Status : Answered
Chosen Option : 1

Q.8 HuIeR Aeach A rRATe el ol UTAfAh s (ThaRTH) T gidr 8?2
Ans X 1. e SherM dY TiE Fer
o 2. SR 3R SMRFMET Aeadh ¢fthas ol ATfAeR 3R dhgtel cheT
X 3. anRy fedae s ok Regg aeen
X 4. 3 A Gfea U 9 ©R Er

Question Type : MCQ
Question ID : 44100935887
Option 11D : 441009143081
Option 2 ID : 441009143080
Option 31D : 441009143082
Option 4 ID : 441009143079
Status : Answered
Chosen Option: 2

Q.9 LAN @ yof &4 =1 8?
Ans o 1. Local Area Network (dliehet TRRaT Aeadh)

75 2. Linked Access Network (feias gad deadh)
5 3. Large Area Network (TSt TRaT eaeh)
5 4. Limited Access Node (fiffids gadia ts)

Question Type : MCQ
Question ID : 44100939349
Option 11D : 441009156917
Option 2 ID : 441009156919
Option 31D : 441009156918
Option 4 ID : 441009156920
Status : Answered
Chosen Option : 1
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Q.10 Sieftg urReds &, St eradq frueqr e galaa sreggwr & A | foham 11 derar 21
Ans X 1. FIRA

X 2. BiThe
& 3.DDT
X 4. AgARE

Question Type : MCQ
Question ID : 44100923144
Option 11D : 44100992311
Option 2 ID : 44100992312
Option 31D : 44100992310
Option 4 1D : 44100992313

Status : Answered
Chosen Option: 3

Q.11 Radiations that are emitted from nuclear wastes are known to cause
Ans 1. mutations

at a high rate.

5 2. emotional defects
2 3. syndromes
X 4. diseases

Question Type : MCQ
Question ID : 44100923996
Option 1 ID : 44100995701
Option 2 ID : 44100995702
Option 31D : 44100995703
Option 4 ID : 44100995704

Status : Answered

Chosen Option : 4

Q.12 f=fafae d @ forads grr figsar ansfta w@ifia & forg wRie= vomeft (notation system)
Rl fi 1?

Ans X 1.3 fSfdeems @m
o 2. Tf3d o] ARI0T s
/5 3. IWTE SFISTE STelt @
X 4. dfga AasieR

Question Type : MCQ
Question ID : 44100925010
Option 1 ID : 44100999751
Option 2 ID : 44100999752
Option 3 ID : 44100999754
Option 4 ID : 44100999753

Status : Answered

Chosen Option : 4
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Q.13 50 U geaHE &l ek 71§ 15 m/s & 991 @ s I 81 sTh nifast Saf fra 82
Ans X 1.1.875J
o 2.5.625J
25 3.3.750J
< 4.7.500J
Question Type : MCQ
Question ID : 44100940304
Option 11D : 441009160727
Option 2 ID : 441009160726
Option 3 ID : 441009160725
Option 4 ID : 441009160724
Status : Answered
Chosen Option : 2
Q.14 yafeRor Y ot & TR&T0T gd UR & fog gafavor wrefor sfafyas (Environment Protection
Act)af_______#amygem
Ans X 1.1984
< 2.1992
< 3.1972
o 4.1986
Question Type : MCQ
Question ID : 44100923093
Option 1 ID : 44100992104
Option 2 ID : 44100992105
Option 3 ID : 44100992103
Option 4 1D : 44100992102
Status : Answered
Chosen Option : 4
Q.15 TR T URATY] ST 32 u §, 3R e S, 31uysil & &0 # faer ™ &1 I &1 siotfaes
Zeg e g7
Ans X 1.32u
X 2.128u
X 3.64u
o 4.256 U
Question Type : MCQ
Question ID : 44100941147
Option 11D : 441009164024
Option 2 ID : 441009164027
Option 3 ID : 441009164025
Option 4 ID : 441009164026
Status : Answered
Chosen Option : 4
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Q.16 faerd IeureA &t FAafaf@a & @ e snffe &= & siarfa aeffepa fvam mam &2
Ans X 1.qdrae &

X 2. wafAe &

o 3. fgdiae &=

X 4 Tgds &

Question Type : MCQ
Question ID : 44100927779
Option 11D : 441009110666
Option 2 ID : 441009110664
Option 31D : 441009110665
Option 4 1D : 441009110667
Status : Answered
Chosen Option: 3

HA N E?
Ans X 1.3 (Leica)
X 2. SiHifees (Jenoptik)
o 3. Tt ST STt (Carl Zeiss AG)
X 4. gmgse-gherd (Schneider Kreuznach)

Q.17 71<eR 2024 ¥, fAmfaf@a d @ fora wnfa siffeee vt wf gRr drges d o= uuw e
Fafafordt Gex o1 sgre fohan an, et giern = aul & eru= aeefenfat 6w i ahn

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100929642
441009118040
441009118038
441009118037
441009118039
Not Answered

Q.18 yFHsela HeAYT (global warming) & shIRUT et T ATaAT
Ans X 1.0.5°C

X 2.0.8°C
X 3.0.7°C
o 4.0.6°C

¢ T8l

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status:

McQ
44100924071
44100996005
44100996008
44100996007
44100996006
Answered

Chosen Option: 3
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Q.19 Ra # gRa shifer &1 #fi=R (Far) RS war wTaT 82
Ans o 1. 7. THUY WA

X 2. Brgerer fheftrs uea

25 3. < gemmn

X 4. 3. Il gEe

Question Type : MCQ
Question ID : 44100924834
Option 11D : 44100999059
Option 2 ID : 44100999058
Option 3 ID : 44100999057
Option 4 1D : 44100999060

Status : Answered

Chosen Option : 1

Q.20 e WRIRET ol JReT i (HeRT) T gidr 8?2

Ans X 1. 3exAC hATaRdEl i el AT
X 2. IoR UraaE wt RIS ®U ¥ WR ST
o 3. 13T Aeadh ot fhdt srsifeRTESE e aht AehT
X 4. SR arRy ot {3 A ofk Rqa e

Question Type : MCQ
Question ID : 44100935768
Option 11D : 441009142608
Option 2 ID : 441009142610
Option 31D : 441009142609
Option 4 ID : 441009142607
Status : Answered
Chosen Option : 4

Q.21 S99} 2025 #, R gRT A=faf@a A @ forg A== &3 ot uae a9 & faw NVS-02 Suig
it forar mar?

Ans o 1. Afa fag 2feam sid™ (NaviC)
X 2. eitee At Geense ke (GLONASS)
X 3. it ST Ren (GPS)
X 4. fcfifoat

Question Type : MCQ
Question ID : 44100929685
Option 11D : 441009118208
Option 2 ID : 441009118207
Option 31D : 441009118206
Option 4 ID : 441009118205
Status : Answered
Chosen Option : 3
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foheher qreanre (afeem) shar?
o 1. 9 Fer
X 2. fareh
X 3. g et
X 4. gdia R

Ans

Q.22 fFr=faf@a 7 @ forw wRdia afger fohdher 7 fiwfiefions 797 gwrr 2025 # 99w siarig

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100929600
441009117875
441009117873
441009117876
441009117874
Answered

1

Q.23 Qe Sfade A Sl Biehd g -2 cm g1 39 &1 a1 RSl

Ans X 1.25D
2< 205D
2<3.-05D
o 4.-50D
Question Type : MCQ
Question ID : 44100940341
Option 11D : 441009160874
Option 2 ID : 441009160872
Option 31D : 441009160873
Option 4 ID : 441009160875
Status : Answered
Chosen Option : 4
Q.24 ek fiia &l 25 cm wiRd gt & I A9 & A 15 cm g WR 3@ T g | ufafes Ay g@
gt
Ans 2 1.-9.37cm
& 2.-10.0cm
o 3.-37.5cm
X 4.17.5cm
Question Type : MCQ
Question ID : 44100940342
Option 11D : 441009160879
Option 2 ID : 441009160878
Option 31D : 441009160876
Option 4 ID : 441009160877
Status : Answered
Chosen Option: 3
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Ans o 1.UV-B

Q.25 wreT fafeRRor i aad siftrer arfehanedt anded -+t 8, Sit DNA &t aifer agenedt 82

< 2.Uv-C
< 3.UV-A
< 4.Uv-D
Question Type : MCQ
Question ID : 44100924142
Option 1 1D : 44100996286
Option 2 ID : 44100996287
Option 3 1D : 44100996285
Option 4 1D : 44100996288
Status : Answered
Chosen Option : 2
Q.26 YRa # sg(gA 41 W= FA=fafaa & @ wi=-ar ag () s=rar mar 82
Ans X 1. mgrer e 9g
o 2. Eien-afean fost
X 3. gt fast
X 4 e fas
Question Type : MCQ
Question ID : 44100924876
Option 11D : 44100999223
Option 2 ID : 44100999221
Option 3 ID : 44100999224
Option 4 ID : 44100999222
Status : Answered
Chosen Option: 2
Q.27 fA=fafEd & @ -3t ves fiegesa A9 18 82
Ans X 1.4T8cY SifaTss
X 2899
o 3. e SZTARISS
X 4. re SIESiTaaTES
Question Type : MCQ
Question ID : 44100924056
Option 1 ID : 44100995945
Option 2 ID : 44100995947
Option 3 1D : 44100995948
Option 4 ID : 44100995946
Status : Answered
Chosen Option : 2
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Ans o 1. =A2B2
X 2. =MULTIPLY(A2,B2)
X 3.=A2-B2

X 4.=A2+B2

Q.28 TeRie & 9t A2 3R B2 & &< ohl om e & foig, Ot C2 F hi=-u1 i &t forar s anfag?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100935430
441009141254
441009141256
441009141255
441009141253
Answered

1

Q.29 = egf arelt wafy e & ghft/gimm

Chosen Option :

Ans X 1.3 dRA
X 2. = e
X 3. g avee
o 4. arRE
Question Type : MCQ
Question ID : 44100940352
Option 11D : 441009160917
Option 2 ID : 441009160918
Option 3 1D : 441009160919
Option 4 ID : 441009160916
Status : Answered
Chosen Option : 4
Q.30 foret Stergie A 2ere ar mitha™ ot qa @t o fArg fve thar it ot Su=iT forar siTaT 82
Ans X 1.F5
o 2.F2
X 3.F1
X 4.F12
Question Type : MCQ
Question ID : 44100935485
Option 11D : 441009141474
Option 21D : 441009141476
Option 31D : 441009141473
Option 4 ID : 441009141475
Status : Answered

1
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Ans

Q.31 A=faf@a & @ #9-a1, TRufee 31 rufe & dug & Jiq agi &2

X 1. 5= @ e arer srafre

X 2. Irgdret T e aret srafre
25 3. el & Fehe ater Srafre
oF 4. ATl srafdre

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100923227
44100992646
44100992647
44100992648
44100992649
Answered

4

Ans

1. R S
X 2. IR, SR
X 3. va.gH. g
o 4. va.qH. Kot

Q.32 F=fafaa A & e Feres Rigial @t wrdia @i & Shaaeri vaus & &0 geffa
fram?

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

McQ
44100926885
441009107126
441009107128
441009107127
441009107125
Answered

2

Ans

Q.33 JEafa & urd T9g & fha Tg @ o A i 2k gt @2

1. T SR AR T gl
X 2. Rumgea

o 3. had AR

X 4. hae TsggeT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100927043
441009107753
441009107754
441009107752
441009107751
Answered

3
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Q.34 TgsgisTeh difiehl ol i SR FaY=ich AT=Id: i &1 gidT 82
Ans X 1.3 T gg STTelleR gidl &1

25 2. 57 U R e ad gid 81

o 3. 3T gadl STaRT-3MUIh 9T 81 &

X 4. 58 anf@des U gid &1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100942181
441009168251
441009168249
441009168248
441009168250
Answered

3

Q.35 fAEfaf@d & @ a1 3 R a9+ Gelifie ZRT Safed a1 96 SIeei?
Ans X 1. %\ UfaRie aTet dR T ITTNT AT

o 2. AR & ATeAH § UTRd YR ht TG

X 3. SIIvRg<h aieedT i hH AT
X 4. 3T IATeTehdl aTelt AT T IUTNT eheAT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
44100940292
441009160680
441009160681
441009160682
441009160683
Answered

4

Q.36 fF=faif@a & @ forw a o1 u=aTY] Feieh 8 87
Ans X 1.erEA

o 2. STRfSH
/< 3. AEgeH
X 4. grEgio

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100941078
441009163747
441009163746
441009163748
441009163745
Answered

2
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Q.37 519 [ 91 | H1g & W I F© I STl STl &, aF I/ pH R 1 TG uSar 8?
Ans & 1.pHFAE STaT g

X 2. pHAGRGE A E

< 3. pH sufkafda wgar &

< 4. pH IS gl ST @

Question Type : MCQ
Question ID : 44100941185
Option 11D : 441009164178
Option 2 ID : 441009164176
Option 31D : 441009164177
Option 4 ID : 441009164179
Status : Answered
Chosen Option : 1

Q38 Rumteigled & &b uga U & mfae 2
Ans X 1.7SRIE
o 2. TTeare fEnTera
3. 9@
X 4 et
Question Type : MCQ
Question ID : 44100924157
Option 11D : 44100996345
Option 2 ID : 44100996347
Option 3 ID : 44100996344
Option 4 ID : 44100996346
Status : Answered
Chosen Option : 1
Q.39 Hefi gz R 123 km/hr i Faa Al aR____ &1 3EE0T 81
Ans X 1. 3dTgfeead i
o 2. UHTHM T
< 3. 3rgEH Tifa
25 4. guft iy

Question Type : MCQ
Question ID : 44100940334
Option 11D : 441009160847
Option 2 ID : 441009160845
Option 31D : 441009160844
Option 4 ID : 441009160846
Status : Answered
Chosen Option : 2
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Q.40 A metal wire is stretched, but it does not break easily. This property is known as:
Ans 1. ductility

& 2. brittleness
5 3. malleability
25 4. hardness

Question Type : MCQ
Question ID : 44100942151
Option 11D : 441009168129
Option 2 1D : 441009168130
Option 31D : 441009168128
Option 4 ID : 441009168131
Status : Answered
Chosen Option : 1

Q.41 R=faf@a & @ =-ar, Asyor 3R gife! A 9 siar ear @2

fasiwar  [fysror RUTED

A) grarReuT|vifaes fafert grT geres foram ST ehar R fafedt &1 smasaed
B) @ued [ Ut # &t & aRadt sigard | &idl o
Q)T (93T Tuesh & THF B & Eeeh! & =T 2ld &

D) fomfor Rt siferfsrar g €t & TRt A0 g1 2T &

Ans X 1.faheq B (Tueq) T8t g
X 2. fae C (qon) ot @
o 3. Aevey A (gurameon) T8t &
K 4. fasheq D (Fmfon) @t &

Question Type : MCQ
Question ID : 44100941338
Option 11D : 441009164893
Option 2 ID : 441009164894
Option 31D : 441009164892
Option 4 ID : 441009164895
Status : Answered
Chosen Option : 4

Q.42 ufaRuTEe e GEeiA hl TR hgi A Tehdr &7
Ans X 1. Insert » Themes

& 2.Home - Layout

/5 3. View - Slide Master

" 4. Design — Themes

Question Type : MCQ
Question ID : 44100938394
Option 11D : 441009153141
Option 2 ID : 441009153140
Option 31D : 441009153143
Option 4 ID : 441009153142
Status : Answered
Chosen Option : 2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Ans

Q.43 foreft Msmg ot s fAsror ar=T S @ it

& 1. 98 SUvl U I ThaHH Teed Tefid adm @

/5 2. 39 9! i ARG GRT Yereh fohal ST UehdT &

/5 3. 9% 9 I9™-g &9 9 [fga srgurd # TS gid &
2 4. 5TH & a1 Sifdres TTawTy gl &

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100941306
441009164734
441009164735
441009164732
441009164733
Answered

1

Ans

Q.44 FF-T1 AToRFET R{Ten, Twhelvu iR Auely & Ay s eiiu=-ied AR ik gfRA-fgaa
Saegde & fag STrAT STTar 82

o 1. fomad (Linux)
5 2. ARaigd (mac0S)
X 3. fIsi=T (Windows)
X 4. 3mEaiaE (i0S)

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100938470
441009153445
441009153444
441009153443
441009153446
Not Answered

Ans

X 1.s=ut+%at?
X 2. v=u+at

K 3a=(v-u)/t
@‘4.v2—u2:2as

Q.45 forelt avg i nfest St 19 e+t & forg Fafafea J @ e nfe afierzor @ suatT forar s
Hehat 82

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100940305
441009160730
441009160728
441009160731
441009160729
Answered

2
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Q.46 &9 arg TR AR &, s = FRUTEART ___ @1
Ans X 1.9/

Chosen Option :

X 2.3
oF 3.499
X4 RIRuTAgE
Question Type : MCQ
Question ID : 44100922509
Option 1 1D : 44100989763
Option 2 ID : 44100989764
Option 3 1D : 44100989765
Option 4 ID : 44100989766
Status : Answered
Chosen Option: 3
Q.47 & Sha=sht 7 2024 fagy 61 gyftey Aftgafag & Fafaf@a 3 9 forg wuf J fagy Reaté
I9T?
Ans X 1.600 "z &20
o 2. 400 HeR 20
25 3.100 Her &20
X 4,200 der €20
Question Type : MCQ
Question ID : 44100929579
Option 11D : 441009117782
Option 2 ID : 441009117783
Option 31D : 441009117780
Option 41D : 441009117781
Status : Not Answered
Chosen Option : --
Q.48 forg uepR ht RAM 31fres aet gieft & aur 3@ Riber sheat Y srreasaerar =t gidi?
Ans X 1. wr 591 (Flash Memory)
5 2.ROM
" 3. SRAM
25 4.DRAM
Question Type : MCQ
Question ID : 44100939241
Option 11D : 441009156488
Option 2 ID : 441009156487
Option 3 ID : 441009156485
Option 4 ID : 441009156486
Status : Answered

1
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Ans

Q.49 Which of the following is NOT toxic to non-target organisms in the soil?

25 1. Fungicides
" 2. Organic fertilisers
X 3. Pesticides
5 4. Herbicides

Question Type : MCQ
Question ID : 44100966045
Option 11D : 441009263131
Option 2 ID : 441009263133
Option 31D : 441009263130
Option 4 ID : 441009263132
Status : Answered
Chosen Option : 4
Q.50 40 g NaCl @t 200 g ST #H =T Qeh faera< darR forar sirar @1 fasra= & NaCl @1 gegmr ufase
fra 8?
Ans  * 1.16.67%
X 2.45%
< 3.25%
K 4.20%
Question Type : MCQ
Question ID : 44100941355
Option 11D : 441009164968
Option 2 1D : 441009164971
Option 31D : 441009164970
Option 4 ID : 441009164969
Status : Answered
Chosen Option : 4
Section : Technical Abilities
Q.1 Why are short-pitch windings preferred in alternators despite their lower induced EMF per
coil?
Ans X 1.They increase the length of end connections.
«# 2. They increase the overall efficiency.
2% 3. They allow for higher voltage ratings.
25 4. They eliminate the need for insulation.
Question Type : MCQ
Question ID : 44100958926
Option 11D : 441009234618
Option 2 ID : 441009234619
Option 31D : 441009234621
Option 4 ID : 441009234620
Status : Answered
Chosen Option : 2
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Ans

& 1.7d T (Trough Laying)
X 2. sr=a.ayor gomett (Draw-in System)
& 3. ucger =ImuA (Direct Laying)
X 4. RRRYgR gomeft (Overhead System)

Q.2 Yfara dhae faem 6 fra fafd 7 @is iR & g go: Sca== &Y srasgaan gidt &, as

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100959047
441009236548
441009236546
441009236545
441009236547
Answered

2

Ans

Q.3 AC uRuy # gfehg 2afws & day A R=fafad & @ fi9-ar sy 1eq 82

25 1. 1feT otk # g o a1 Aicha 1k ddt 81

X 2. afeea fth, aRuy gRT @ud &t o arelt arafaes af 8|
o 3. AC uRuy 7 Tftha 1fth P=Visind grR1 & 57t 81

25 4. afeha 1<k o1 AT a1 (W) B

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

McQ
44100962029
441009247149
441009247146
441009247147
441009247148
Answered

3

Ans

" 1. It requires external reactive power from the grid.
2 2. Itis not suitable for wind energy applications.
25 3. It cannot generate active power.

25 4. It cannot operate at high speeds.

Q.4 What is the main drawback of using an induction generator in a grid-connected wind turbine?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100961987
441009248127
441009248129
441009248128
441009248126
Answered

2
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Q.5 Which of the following is characteristic of soft magnetic materials?
Ans X 1. Low relative permeability
5 2. Low absolute permeability
X 3. Large hysteresis loss

«" 4. Low coercivity

Question Type :
Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

McQ
44100959910
441009238567
441009238565
441009238566
441009238564

Marked For Review

1

Q.6 SiSTel 5191 # SeF & U (atomising) & fog fA=fef@a & @ wi9-91 ges Iuver 82

Ans X 1.cEMEoR
/K 2.3y 4y
o 3. TRR
X 4 BERER
Question Type : MCQ
Question ID : 44100961338
Option 11D : 441009244368
Option 2 ID : 441009244369
Option 31D : 441009244367
Option 4 1D : 441009244366
Status : Answered
Chosen Option : 4
Q.7 39 Fwil Gid & favaiar o1 ulkerer RS, St sngfd forg o v MAeht-gera smar & @ 6.8
J W& SRt g
Ans X 1.6.8V
o 2.6.8kV
X 3.6.8mV
< 4.068V
Question Type : MCQ
Question ID : 44100957475
Option 1 ID : 441009228765
Option 2 ID : 441009228763
Option 3 1D : 441009228764
Option 4 1D : 441009228766
Status : Answered
Chosen Option : 2
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1
52+ 1

@8 0.5 F aret sienon  ateean @ s e V(5 =
TR yRTmTAF____ ghmi
Ans X 1.3
& 2.05A
X 3.2A
X41A

gait=0" weauRa &

Question Type : MCQ
Question ID : 44100969304
Option 11D : 441009275837
Option 2 ID : 441009275839
Option 3 1D : 441009275838
Option 4 ID : 441009275840
Status : Answered
Chosen Option : 1

Q.9 With reference to energy band diagram of the NPN BJT, there exist
regions and maximum band bendingat _______ junction.

space charge

Ans o 1.two; base emitter
5 2. three; base collector
< 3.two; base collector

< 4. three; base emitter

Question Type : MCQ
Question ID : 4410091584
Option 11D : 4410096329
Option 2 ID : 4410096332
Option 31D : 4410096330
Option 4 ID : 4410096331
Status : Answered
Chosen Option : 4
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Ans

1

Q.10 g 71q ger faereas ABC #, duor iR A ur wailRa et o7 (total current fed) Ima FifSQI

(4+3)Q2 (4+3)0
B C
—] E—
8A 12A
06pt R 08pf.
x 1.(12+j8)
X 2.(8+j6) A

X 3.(13.6 +j14.4) A
o 4. (14.4+]13.6) A

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100958963
441009234768
441009234769
441009234766
441009234767
Answered

2

Q.11 foreft uaret Y F=der T p ik ATder URTRIET pr & diw Hay
STt 8l
(Ream e & fok po, arg Y FARder e @)

ZR1 _fua frar

Ans

TR

FIFF|E

Xop =
Xap=p
H,

XAapn=s—
L

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

McQ
44100960091
441009239300
441009239302
441009239301

Option 4 1D : 441009239299

Status : Answered

Chosen Option : 4
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Q.12 NPN gifSiweR, SR ufaRier Rb, g ufarter Re $fR Sigfe ateedr Vee &1 IUdT shich SWAS

Iesiar fa=me & wxer e smaw BJT & foig, Rb # gfg & a1y snurR awr gaik
ISR URT_________ @l
Ans X 1. gedl; St
X 2. wodh; gedt
X 3. e, gt
o 4. Tl gedt
Question Type : MCQ
Question ID : 4410091569
Option 1 ID : 4410096269
Option 2 ID : 4410096271
Option 3 ID : 4410096272
Option 4 ID : 4410096270
Status : Answered
Chosen Option : 2
Q.13 IRUT HieR & g Iugh fohg o1 a1t wR-3eT Yadad &, uad aemeof arment )
gt e g1
Ans X 1. Ga-alre Femguf & 75%
2 2. oA-dlIE FTgu! & 66%
/X 3. pat-alre Femguf &1 50%
o 4. G- Jemguf &1 33%
Question Type : MCQ
Question ID : 44100961619
Option 1 ID : 441009245533
Option 2 ID : 441009245532
Option 31D : 441009245531
Option 4 1D : 441009245530
Status : Answered
Chosen Option : 2
Q.14 CRO & 91Y URT ATYA & fAQ 0.50 & 2ie ufaierer v Suai forar sirar @1 afe wfad aieedar ura
5V @, at ury foraht ghfi?
Ans X 1.20A
X 2.5A
X 3.25A
o 4.10A
Question Type : MCQ
Question ID : 44100956071
Option 1 ID : 441009223201
Option 2 ID : 441009223199
Option 31D : 441009223198
Option 4 ID : 441009223200
Status : Answered
Chosen Option : 4
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Ans o 1. T8 Jeal & Fifch Sl gl hH &l STt gl
< 2. 98 =T 8 ST & rifeh SrgATE Uidend Rt 3g R At 8l
25 3. 9% gcar & wilf ufodty Sgar gl
X 4. R T & Fiifes yf ateedr fRR &t 21

Q.15 afg g Soft ulkuy w1 qurasT RS (Q) T&dT &, dt aleedT STt uR &1 YT gidar 8?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100960286
441009240103
441009240106
441009240104
441009240105
Answered

2

Q.16 Winding in wire wound resistor is made up of
Ans X 1. Chromium cobalt

25 2. Carbon
" 3. Nickel-chromium alloy
& 4. Nickel

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100959803
441009238142
441009238143
441009238140
441009238141
Answered

3

Q.17 Rt srezrareht &, Rekera a=g (pickup value)' 2% /T ef¥Ha whar &2
Ans X 1. diecdl o1 a8 TR O RV R 8 & a1e Ret I8¢ 81 ST 6

25 2. foreht gy o1 uaT T & a1 Ret vferd 81 & ugdt ot g faeie

X 4. R g fom foneht arfar & wifararg= &t S areft sifderam emer

o 3. Rt ot afehld A & forg sTasaes v=mer iR (9T, dieed, S11fe) & =geas J14

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100963481
441009252938
441009252937
441009252936
441009252935
Answered

3
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Q.18 & garehia g BE 37k BCDE HHieR hH # ¢ 3R Ueh THieR th Gechia IR a1 &, ﬁmﬁ;ﬁq
¢ A A fe@mar mar @1 59 gHiaR ohE aRRuYy & A smarges R o

TRIER &l
A @1 B 03 ¢
. . |
<______q>
N<-“"‘;. :(PZ
"-—-.q?
F E D

Ans X 1. BE 3R BCDE & foIq smasges SRR thel & ahThet
X 2. fondY off uap u & forg srrasaes SR oY & anf
/< 3. BE & fo7q simasaen QiR thel o Hahd
o 4. Tt oft o uy & g sirazaes SR ol

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960135
441009239488
441009239490
441009239489
441009239487
Not Answered

Q.19 gahrg ARSI (fringing) =t ford UerR @ =ga faRan <1 Tehar 82
Ans X 1. JIRRT URTeRT S TehTU gIRT

25 2. 9 oTeT aret gaeh uare a1 SudhT shech

X 3. 919 HH ek

o 4. TG-S HH Hich

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960017
441009239009
441009239008
441009239010
441009239007
Answered

2
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Q.20 The difference between Capacity Factor and Load Factor represents
Ans X 1.the plant's efficiency in converting fuel to electricity

" 2.the plant’s reserve capacity for future load growth
25 3. the total energy consumed by the plant

25 4. the maximum demand of the plant

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960236
441009239955
441009239956
441009239957
441009239958
Answered

2

Q.21 What is the primary purpose of 'Inter-Turn Fault Protection' in an alternator?
Ans o 1.To detect faults between adjacent turns of the stator winding

/< 2. To monitor the voltage imbalance in the alternator
/5 3. To protect against earth faults in the rotor winding

25 4. To detect faults between the rotor and stator windings

Question Type :
Question ID :

1 441009252840
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Option 11D

McQ
44100963457

441009252842
441009252841
441009252839
Answered

1

Ans X 1. 3mafd & R 5o
2 2. ot aTeTeh & IRY S1R Jechig &
X 3. forehY Tmeten & ATeH T WaTfed g1 arell eRT
o 4. IR faerd arga T

Q.22 T & Erd-gry & R AT SuAT ... &Y Rz FRrufRa &=A & fog v srar 21

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100954531
441009217105
441009217104
441009217102
441009217103
Answered

4
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Q.23 faega 550 # A= fha=t WahR & € gefife (heating elements) T Iu=iT ke StraT 82
Ans X 1.9R

X 2.9h
X 3.d=
o 4.3

Question Type : MCQ
Question ID : 44100966241
Option 11D : 441009263913
Option 2 ID : 441009263910
Option 3 1D : 441009263912
Option 4 ID : 441009263911
Status : Answered
Chosen Option : 2

Q.24 What is a key factor in the installation and costing of electrical systems for commercial
buildings?

Ans X 1. Focusing only on decorative lighting and aesthetics
25 2. Eliminating the use of protective devices
25 3. Ignoring safety standards to reduce costs

" 4. Ensuring compliance with electrical codes and standards while estimating materials
and labour costs

Question Type : MCQ
Question ID : 44100963955
Option 11D : 441009254827
Option 2 ID : 441009254828
Option 3 ID : 441009254825
Option 4 ID : 441009254826
Status : Answered
Chosen Option : 4

Q.25 Which type of transformer is best suited for applications that require a low leakage
reactance?

Ans X 1. Core type transformer
25 2. Ring type transformer
" 3. Shell type transformer

& 4. Laminated type transformer

Question Type : MCQ
Question ID : 44100961999
Option 11D : 441009247034
Option 2 ID : 441009247036
Option 3 1D : 441009247035
Option 4 ID : 441009247037
Status : Answered
Chosen Option : 4
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Q.26 Which of the following is the commonly used generator in a DC welding machine?
Ans X 1. Shunt generator

25 2. Series generator
25 3. Permanent magnet generator

«” 4. Compound generator

Question Type : MCQ
Question ID : 44100966268
Option 11D : 441009264019
Option 2 ID : 441009264018
Option 3 1D : 441009264021
Option 4 ID : 441009264020
Status : Answered
Chosen Option : 4

Q.27 afe gas or=aR uRuy Y ufderer Z = 5 - j4 @, at wa=aar ghfh
Ans X 1.5-j4
5 +j4

2.
v 41

X 3.5+j4
X 4.9

Question Type : MCQ
Question ID : 44100962388
Option 11D : 441009248622
Option 2 ID : 441009248620
Option 3 1D : 441009248623
Option 4 ID : 441009248621
Status : Answered
Chosen Option : 3

Q.28 The eddy current loss in a transformer is caused by:
Ans 2% 1. resistance of the primary winding

2 2. saturation of the core material
«# 3. circulating currents within the core due to changing magnetic flux

2 4. voltage drop across the windings

Question Type : MCQ
Question ID : 44100961948
Option 1 ID : 441009246857
Option 2 ID : 441009246856
Option 3 ID : 441009246855
Option 4 ID : 441009246854
Status : Answered
Chosen Option: 3
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Ans

Q.29 Twa B4, v(t) = Ldi/dt aret 9R= & fag emgfer & Tsier o1 ateear deier am ghm?

& 1.V(s) =Lsl(s)

X 2.V(s) = LI(s)

¥ 3.V(s) = LslI(s) - Li(0)
X 4.V(s) = LI(s) - Li(0)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100969125
441009275130
441009275132
441009275129
441009275131
Answered

2

Ans

Q.30 The collector to bias circuit in BJT has better stability than fixed bias circuit as

25 1. it can operate on higher supply voltages than that of fixed bias circuit
25 2. it can operate on higher power than fixed bias circuit
" 3. its stability factor is lower than that of fixed bias

X 4. its stability factor is higher than that of fixed bias

Question Type :
Question ID :

: 4410096289
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Option 1 ID

McQ
4410091574

4410096290
4410096292
4410096291
Answered

4

Ans

Q.31 -1 HRh URUT W€ Jeadhifoieh Atex & Uad- Terguf sl gifae gl e &2

o 1. VA & SR &3 Sedei
25 2. dex ufqend
X 3. e ufdty

25 4. smyfe gieean

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100961066
441009243248
441009243249
441009243247
441009243246
Answered

4
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Ans

o 1. T8 TG Il 8
X 2.8 LAGI It g
X 3. T EHH G 8
X 4. ggucrdl g

Q.32 foreft giwrrR #, afe verdt ateear Y stgf aer & S at ARe dleear uR @ar yvg ugar 8?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100961926
441009246772
441009246773
441009246771
441009246770
Answered

1

Ans

&
o 1. ATH URYOT &8 (80 km & 160 km)

25 2. et URWoT 184 (160 km & 31fareR)
2% 3. Y URYUT 18 (80 km 9 &)
X 4. 3fa-3=a dieedT TR A5 (1000 km & 31fdrh)

Q.33 ‘nt (Pi) Afss’ a1 ‘T Afse’ Ura: fhe WehR Y urwoT w134t fARefa @A & forg s favar siman

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100955263
441009220029
441009220030
441009220028
441009220031
Answered

1

Ans

Q.34 Why is an electrodynamometer-type wattmeter used as a standard instrument in

laboratories?
25 1. It requires no external power supply.

25 2. Itis cheaper than other wattmeters.
«" 3. It has high accuracy and precision.

25 4. It works only for low-power circuits.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100956869
441009226303
441009226302
441009226301
441009226304
Answered

3
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Ans

25 1. It remains constant
X 2. It becomes infinite
< 3. ltincreases

¥ 4. It decreases

Q.35 If the frequency of a series R-C circuit is increased, what happens to the capacitive reactance
Xc?

Question Type :
Question ID :
Option 11D :
Option 21D :

: 441009239239

: 441009239240

Status :

Chosen Option :

Option 31D
Option 4 ID

McQ
44100960076
441009239241
441009239242

Answered
4

Ans

Q.36 In a transformer, the efficiency can be calculated with reasonable accuracy by knowing:

< 1. the rated power
2% 2. the short-circuit current
¥ 3. the losses (core and copper losses)

2 4.the input and output voltage

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100961960
441009246902
441009246903
441009246904
441009246905
Answered

4

Ans

4" 1. To burn biomass or convert it into syngas for energy generation

2 2. To distribute electricity to the grid
2 3. To store biomass for future use

& 4.To cool down the system after power generation

Q.37 In a biomass power plant, what is the main purpose of the combustion/gasification chamber?

Question Type :
Question ID :

: 441009244375
: 441009244376
Option 31D :
Option 41D :
Status :

Chosen Option :

Option 1 ID
Option 2 ID

McQ
44100961339

441009244374
441009244377
Answered

1
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Q.38 fAmfaf@a & & wiF-91 Fu, Soif w8101 J §g-Iure (cogeneration) &t YfAenT o1 walww o=
T g aUT TRE WOt 1 Sy fohe UehR Setf faeil ohl &vF et | HEE o Tehel 87

Ans X 1. 9§-IUTEA hadl 92 SHTenfie &5 # & A giaT & SR ST Soll UETUT IR hig UTE gl ugdl
2, STafen 2R gomferat s IuahT Shaet SuRfTarett gRT WU o & forg fonar ST 81
X 2. Tg-3ared ¥ ifafkwh fastelt ot ITe ehich STl WU ¢ SITd! &, J2T &R wonfert s St
forett ot o foh fomTT S=a ot SuahTendfait ot Ef3d aeat & forg fhar Smar 81

o 3. TB-3Te T fIa SfR It ATt it ol o AT IUTe hich Solf SUed A &l ST &,
STafch Sres! avg & faire & 18 SR Hunelt s (off-peak) Seif IUTRT ht WicHTed el &, foras

Y NI A gl SiTdt gl
X 4. Tg-3ared iR R yonfort sridfid srguromd §, iR 396 @ ahis off it TRetor At @nra
GAeRROT e gl el 1
Question Type : MCQ
Question ID : 44100954903
Option 11D : 441009218583
Option 2 ID : 441009218582
Option 31D : 441009218581
Option 4 ID : 441009218584
Status : Answered
Chosen Option : 3
Q.39 fneht Greeft A Ofka EMF i Ram, &I HgraaT @ FATd i S Hepdl &1

Ans X 1. wiffin & am-gw am
X 2. e & am
o 3. T & fargw faw
X 4 e & fam

Question Type : MCQ
Question ID : 44100959839
Option 11D : 441009238286
Option 2 ID : 441009238287
Option 3 ID : 441009238285
Option 4 1D : 441009238284
Status : Answered
Chosen Option: 3

QA0 THEIRFEMFEfieRor___ grRiRmismar gl
Ans X 1.E=4.44NAd

o 2.E=4.44fNd
X 3.E=4.44f2pN
X 4.E = 4.44fNAD

Question Type : MCQ
Question ID : 44100961966
Option 11D : 441009246922
Option 2 ID : 441009246924
Option 3 1D : 441009246925
Option 4 1D : 441009246923
Status : Answered
Chosen Option : 2
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Q.41 Qe Sifet g §, aft ateear aRorA srgure 2: 1 8, @t arufdes urT ofik feftaes umr &

Chosen Option :

SrguTe fRae 82
Ans X 1.1:1
K 2.2:1
@ 3.1:2
X 4.2:3
Question Type : MCQ
Question ID : 44100962005
Option 11D : 441009247060
Option 2 ID : 441009247059
Option 3 ID : 441009247058
Option 4 ID : 441009247061
Status : Answered
Chosen Option : 3
Q.42 Which of the following is a key characteristic of a slip ring induction motor?
Ans & 1. High starting torque and low starting current
5 2. High efficiency at all loads
/5 3. Low starting torque and high starting current
/5 4. Operates only at synchronous speed
Question Type : MCQ
Question ID : 44100961654
Option 11D : 441009245669
Option 2 ID : 441009245667
Option 3 ID : 441009245666
Option 4 ID : 441009245668
Status : Answered
Chosen Option : 1
Q.43 e %t AteR o1 Uaed= saeTgol, ST 3 Alex & Uad= T«rgef d fra yaR ge-ia 8?
Ans X 1. gl T ad- Smgef gk Sie giar |
X 2. faera thet Hiex &1 hig Uad- Sl Tai giar
/< 3. 1 ya Hiex &1 gad- Fermguf $1fd giar g1
o 4. e thet Hiex a1 Uade Jergut Sifees giar &
Question Type : MCQ
Question ID : 44100958670
Option 11D : 441009233567
Option 2 ID : 441009233568
Option 3 ID : 441009233566
Option 4 ID : 441009233565
Status : Answered

1
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Ans

Q.44 Which of the following is NOT a condition for the parallel operation of transformers?

&5 1. Same voltage ratio
25 2. Same per unit impedance
+«# 3. Same core material

25 4. Same polarity

Question Type : MCQ
Question ID : 44100962021
Option 11D : 441009247122
Option 2 ID : 441009247123
Option 3 ID : 441009247124
Option 4 ID : 441009247125
Status : Answered
Chosen Option : 3
Q.45 Qe a1 39T (power triangle) & afsha 21fvh (P), uferare 2rfvh (Q) siir semeiia 21fwh (S) & fiwr
T e §?
Ans X 1.S=P+Q
X 2.P?=82+Q?
& 3.52=pP2+ Q2
X 4.Q°=82+P?
Question Type : MCQ
Question ID : 44100962067
Option 11D : 441009247297
Option 2 ID : 441009247295
Option 3 ID : 441009247296
Option 4 ID : 441009247294
Status : Answered
Chosen Option : 3
Q.46 T=-31 AW, TR his A WaR YRTSHT & URUT Y =arean &ar 8?2
Ans X 1. vefimR &1 Ao
X 2. 3y o A
o 3. e v Fem
X 4. Ft @
Question Type : MCQ
Question ID : 44100961854
Option 11D : 441009246478
Option 2 ID : 441009246481
Option 31D : 441009246480
Option 4 1D : 441009246479
Status : Answered
Chosen Option: 3
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Q.47 Why is voltage drop analysis important in an AC distribution system?
Ans X 1.Toincrease resistance in the conductors

/5 2. Toincrease power losses
«” 3. To ensure voltage levels remain within acceptable limits

25 4. To reduce the system frequency

Question Type : MCQ
Question ID : 44100957571
Option 11D : 441009229146
Option 2 ID : 441009229143
Option 3 1D : 441009229144
Option 4 ID : 441009229145
Status : Answered
Chosen Option : 3

Q.48 fordt wentar witq Y suifa fear Rt ufd g or swifa oerery & =u & uRare famar siran
gl

Ans X 1. &Fthd
X 2. smada
X 3.
o 4 TSI

Question Type : MCQ
Question ID : 44100966301
Option 11D : 441009264150
Option 2 ID : 441009264153
Option 31D : 441009264152
Option 4 ID : 441009264151
Status : Answered
Chosen Option : 4

Q.49 In a three — phase mduction motor which component represents mech:
Ans X 1,R2[:1 - 5)
v Rz(l —5s)

8

x 3 5R2(1 —5s)

8

xa 2

5

Question Type : MCQ
Question ID : 44100961555
Option 1 ID : 441009245369
Option 2 ID : 441009245367
Option 31D : 441009245368
Option 4 ID : 441009245366
Status : Answered
Chosen Option : 3
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Q.50 Power of an electrical system is measured in
Ans X 1. watt-sec

X 2. joule
o 3. watt

25 4. newton-metre

Question Type :
Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

McQ
44100955904
441009222562
441009222561
441009222560
441009222563
Answered

1

Q.51 = veffa aRay & garfga urr 1, 719 S

11=2A

3 2
la=?
Y 1:=5A
Ans X 1.27 A
X 2.13A
X 3.23A
o 417 A

Question Type :
Question ID :
Option 11D
Option 2 ID
Option 31D
Option 41D :

Status:

Chosen Option :

McQ
44100955878

1 441009222461
1 441009222463
1 441009222462

441009222460
Answered
4
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Ans

Q.52 wi-¥t AT fafe, dror dter & ar-aguter v o gem s §?

X 1. A ufertey o

X 2. R gieedn fAg=or

X 3. s sif-ae (DOL) wifén
o 4. IRuaa Hradh grza (VFD)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100961203
441009243829
441009243827
441009243826
441009243828
Not Answered

Ans

Q.53 Microwave heating is based on the principle of:

25 1. conduction heating
2% 2. induction heating
2 3. arc heating

& 4. dielectric heating

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100966220
441009263828
441009263826
441009263829
441009263827
Not Answered

Ans

Q.54 freft DC Sioft Aiex & ot smepf-wits sifAwe1forr ok # wits Tt R T glar &2

X 1. 9o gl sruTfae ®U § e 8l

X 2. 9o smguf fRR gt ST 81

X 3. TR RT HE ST g1

o 4. T T, SR YR & af & SruTd & FedT 8l

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100961865
441009246522
441009246524
441009246525
441009246523
Answered

2
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Ans

25 1. IR & Shad TSTadl Ui IR thichd e

25 2. faegd vunferat & Siffi &Y SaaehdT Sl TATE e

/< 3. ffT R o1 Hied ol e & simeptiar g1 gATYd deer

o 4. & SR gt Sifef Reew & iy sasaes A, o1 SfiR mTd et fAeRoT s

Q.55 aTfoTfRres o=l & forg gfie siffn & uraeras ok @ma HrefRor o1 wrufaes Igea w82

Chosen Option :

Question Type : MCQ
Question ID : 44100963952
Option 11D : 441009254816
Option 2 ID : 441009254815
Option 3 1D : 441009254813
Option 4 ID : 441009254814
Status : Answered
Chosen Option : 4
Q.56 10 =g@A= ufa VAT Y g7 F Tt Ramsit § voraa & d yarer I@fia #- aret @ia
safadfisar @1
Ans o 1.10 &sar
X 2.5 %3
< 3.20 &ear
X 4.1 Fed
Question Type : MCQ
Question ID : 44100966319
Option 11D : 441009264222
Option 2 ID : 441009264223
Option 3 ID : 441009264224
Option 4 1D : 441009264225
Status : Answered
Chosen Option : 1
Q.57 What is the purpose of '100% Stator Earth Fault Protection’ in an alternator?
Ans # 1. To detect and protect against earth faults occurring anywhere in the stator winding
2 2. To protect the rotor winding from overheating
25 3. To monitor the voltage regulation of the alternator
2 4. To detect and protect against phase-to-phase faults in the stator winding
Question Type : MCQ
Question ID : 44100963578
Option 11D : 441009253328
Option 2 ID : 441009253329
Option 3 ID : 441009253330
Option 4 ID : 441009253327
Status : Answered

1
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Ans

25 1. Ensuring the system operates without any protective devices
25 2. Ignoring the load characteristics to simplify the design
25 3. Focusing only on the mechanical components of the system

«# 4. Calculating the power requirements and selecting appropriate protective devices

Q.58 Which of the following is a critical factor in the installation and estimation of agricultural
pumps and flourmills?

Question Type :
Question ID :
Option 11D :
Option 21D :

Option 31D
Option 4 ID

McQ
44100963918
441009254681
441009254683

: 441009254684
: 441009254682

Status :
Chosen Option :

Answered
4

Ans

Q.59 In a series RLC circuit, the total impedance is minimum when

o 1. X =X¢
25 2. the resistance is zero
23X < Xe
24X > X,

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960122
441009239423
441009239426
441009239424
441009239425
Answered

2

Ans

Q.60 In Lambert’s Cosine Law, the angle 8 is measured between:

25 1. source and observer
X 2. reflected light and normal
5 3. horizontal and vertical plane

&" 4.incident light and normal

Question Type :
Question ID :
Option 11D :

1 441009264331

: 441009264333

: 441009264330

: Answered

Chosen Option :

Option 2 ID
Option 31D
Option 4 ID

Status

McQ
44100966346
441009264332

3
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Q.61 Gah geehlfcieh AleX #, Ifg MR &o190° S oifder g, At dler
Ans X 1.3 (copper) & g1 &t & Sl

25 2. e FergTht

#< 3. SEATTHT 0feRT T[OTeR UR T R

o 4. JeaehTicTchdT @ &t ofR &< gt sat

Question Type : MCQ
Question ID : 44100960855
Option 11D : 441009242437
Option 2 ID : 441009242436
Option 31D : 441009242434
Option 4 1D : 441009242435
Status : Answered
Chosen Option : 2

Q.62 311k d1uH (arc heating) #, 3meh ZRT 3ffaRa war 21
Ans X 1. gadhi eF

2. e A

& 3. ag & A

X 4. arg & wided g

Question Type : MCQ
Question ID : 44100966213
Option 11D : 441009263799
Option 2 ID : 441009263801
Option 3 1D : 441009263798
Option 4 ID : 441009263800
Status : Answered
Chosen Option: 2

Q.63 giEwrR A gaar (polarity) 2T HeaTu= St foRa ST Hehar 872
Ans X 1. fafdse ey AmgeRR

X 2. STgU TEToT hech
o 3. dicedl iR &l ATIA & foly diceHieR ol IUTNT ehich
5 4. Tgdaes gea | dicedT &l Sird eeh

Question Type : MCQ
Question ID : 44100962030
Option 11D : 441009247150
Option 2 ID : 441009247153
Option 3 1D : 441009247152
Option 4 1D : 441009247151
Status : Answered
Chosen Option : 3
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Q.64 Why does Kelvin's Law give different conductor sizes for two identical systems?

Ans X 1.Because one system uses overhead lines and the other uses underground cables
" 2. Due to variations in interest rates, depreciation, and energy costs
/5 3. Because the resistance of conductors is always changing

/5 4. Because the electrical load is different in both systems

Question Type : MCQ
Question ID : 44100956674
Option 11D : 441009225560
Option 2 ID : 441009225559
Option 3 1D : 441009225561
Option 4 ID : 441009225558
Status : Answered
Chosen Option : 4

Q.65 fAmfaf@a & @ wiF-41, DC i SRR & fog f[RAR dts SIgyahT &1 ek IET8R0T 82

Ans X 1. fagE Al
25 2. DC 31k afed
X 3. IRuT A
o 4. JUdd Uy
Question Type : MCQ
Question ID : 44100954512
Option 11D : 441009217026
Option 2 ID : 441009217029
Option 31D : 441009217028
Option 4 ID : 441009217027
Status : Answered
Chosen Option : 2
Q.66 Feifagen 3imch AfeET (Electric Arc Welding) Teh WehR ht gl

Ans X 1.¥0<9 A& (resistance welding)
X 2. Tifers-we af@w (solid-state welding)
& 3. WS afET (fusion welding)
X 4. DR afE (pressure welding)

Question Type : MCQ
Question ID : 44100966275
Option 11D : 441009264049
Option 2 ID : 441009264048
Option 3 1D : 441009264046
Option 4 ID : 441009264047
Status : Answered
Chosen Option: 1
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Ans

Q.67 What is the role of heliostats in a power tower system?

" 1. To track the Sun and direct sunlight to the receiver
25 2. To convert thermal energy into electrical energy
5 3. To generate electricity directly

25 4. To store solar energy for later use

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100961701
441009246079
441009246081
441009246080
441009246078
Answered

1

Q.68 P-N df¥ st & forg, S-S arowT= e § Srits 6 o1 Sy dieedn 3R I=hH
dqfaeamr___ |
Ans X 1.9cdt g; gt @
o 2.9 g TgdT 8
X 3.9 g wed g
X 4 5edt g sl 8
Question Type : MCQ
Question ID : 4410091596
Option 11D : 4410096380
Option 2 ID : 4410096379
Option 3 ID : 4410096377
Option 4 ID : 4410096378
Status : Answered
Chosen Option : 3
Q.69 In a three-phase star-connected system with a neutral shift, how can the problem be
corrected?
Ans 2X 1. By disconnecting the neutral wire
#5 2. By increasing the neutral wire resistance
2% 3. By increasing the phase voltage
" 4. By balancing the load among the three phases
Question Type : MCQ
Question ID : 44100960018
Option 11D : 441009239014
Option 2 ID : 441009239013
Option 3 ID : 441009239011
Option 4 ID : 441009239012
Status : Answered
Chosen Option : 4
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Q.70 A power system with a high reactive power demand will resultin ___.

Ans X 1. high power factor
«” 2. low power factor
25 3. unity power factor

X 4. no change in power factor

Question Type : MCQ
Question ID : 44100962042
Option 11D : 441009247198
Option 2 ID : 441009247199
Option 3 ID : 441009247201
Option 4 ID : 441009247200
Status : Answered
Chosen Option : 2
Q.71 @ 71Q 3ifAHU= (A) iR BRI (R) &l ea=gde ufeq ik 9t faerea @1 wa= fifsigl
(A): PMMC # I kT g1, STl UM 3R aTIHTE & hIRUT gt 21
(R): PMMC Tt & e AT Tereh T84 & A1 Sfu-t g @t 3 gl
Ans o 1. A SRR EH 9 & Afh R, A &1 el Teieheor 781 g
X 2. ANET g, AfFTRIT
75 3. A SRR I O &, AATR, A T Tgl TR &
K 4 AT, AfRT R A B
Question Type : MCQ
Question ID : 44100955831
Option 11D : 441009222281
Option 2 ID : 441009222283
Option 3 ID : 441009222280
Option 4 ID : 441009222282
Status : Answered
Chosen Option : 3
Q.72 g 71q 3ifAhU= (A) iR &ROT (R) @l ea=gde ufeq ik 9t fAerea @1 wg+ fifsigl
(A): Teh AU SR T ¥R (Burden) WT: dive-UfRmR (VA) # =o<h forar Strat g1
(R): Hiez, Ret ofiz arafr wfga 2 g Sueron 6t et ufaaren, YR (Burden) 81
Ans X 1.ASRREH T g 3R R, A &1 T8t TEtaheor &1
X 2. A9 g, AT RIAT B
X 3. AT g, AR R s B
o 4. A SRR T € 3R R, A &1 T8 TUETeheuT 81 g
Question Type : MCQ
Question ID : 44100954207
Option 11D : 441009215810
Option 2 ID : 441009215812
Option 31D : 441009215813
Option 4 ID : 441009215811
Status : Not Answered

Chosen Option :
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Q.73 Stray load losses in synchronous motors are caused by

Ans X 1. excessive field excitation
&5 2. poor lubrication in bearings
25 3. high rotor inertia

" 4. leakage fluxes and harmonic effects

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960769
441009242038
441009242037
441009242036
441009242035
Answered

4

Q.74 The capacitance of a parallel plate capacitor depends upon:
Ans " 1. separation between plates

5 2. potential difference between plates
25 3. thickness of plates

5 4. type of metal used

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100957525
441009228964
441009228966
441009228965
441009228963
Answered

3

8l
X 1. ufaRieres R # 3Ye aiedst $fR dicet UTd ot SisHT iR 38 SR STTS i el sl
X 2. 3T I Sl T
o 3. SR SIS & | URT ot AT B
X 4. I3y ateest # MR 3R I et fheer AT

Ans

Q.75 2iE SR SRS gieest Ve Afthe #, g7qe aleet & a1y Avft shw & 2 ufaRiers (R) o1 ek

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
4410093585
44100914349
44100914350
44100914348
44100914347
Answered

1
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Q.76 fava gigwrR A el & Hau &, Aafaf@a § @ oi-a1 wu a8 78 82
25 1. fava giamnR § giecdr 919 gEa: sud 3 R AR aar gl

< 2. 1k @tor Ffe SR Srgura Afe AT arfxh A9 &6t oTfad &R 81

o 3. g ZamrR & aleear ATa et e fkh wtor AfE g uefad et 1

X 4. dtcear a1uR & forg 21k alor Zfe ofk srura A ST & Agaguf €

Ans

Question Type : MCQ
Question ID : 44100955421
Option 11D : 441009220636
Option 2 ID : 441009220637
Option 3 ID : 441009220638
Option 4 1D : 441009220639
Status : Answered
Chosen Option: 3
Q.77 ateHier & 919 CT 3R PT a1 IUTNT ehat 90T hi4-f Taisi= fAfY (connection method) &t &2
Ans X 1.CT 3R PT gl ot dfertex & Q1 IiaR vl & TaifSra fohar Sirar &1
< 2. CT o aferier URT Heclt o AT iR hi H Taiford fohar Sirar 8, ofR PT ateedr geelt & a1y
Softern & TS foram e &1
o 3. CT &l aferfiex a1 et & a1 Sofieh & Tfora fokan Sirar &, a1 PT ol dieedr ggett & a1y
JUIdR &y & GO forar Siar &1
25 4. CT 3R PT &l ont aferftex & amer ofiern & Tifid fohar SIam 8|
Question Type : MCQ
Question ID : 44100956851
Option 11D : 441009226232
Option 2 ID : 441009226230
Option 3 1D : 441009226229
Option 4 1D : 441009226231
Status : Answered
Chosen Option: 3
Q.78 What is the purpose of a closed feeder ring in an interconnected
system?
Ans " 1. To create a looped power supply network
25 2. To prevent power distribution
25 3. To disconnect substations from each other
5 4. To reduce voltage stability
Question Type : MCQ
Question ID : 44100955261
Option 11D : 441009220020
Option 2 ID : 441009220021
Option 3 ID : 441009220023
Option 4 ID : 441009220022
Status : Answered
Chosen Option : 1
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Q.79 ue i Rgeex ufey Gas 3.2x10'0 J St Sea= et 81 aft udes A== 200 MeV Isfsia

McQ
44100961500
441009245121
441009245119
441009245118
441009245120

Status : Answered

T g, at vl Sohs fohast gz gla 82

Ans X 1.10"9
o 2.107
2 3.1010
X 4.10"

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Chosen Option : 1

Q.80 Coefficient of coupling between two coils is given as , where M = Mutual Inductance, L,
= Self Inductance of coil 1 and L, = Self Inductance of coil 2

Ans i

o 1 F_Lle
X 2. \II L1L2

M
X 3.L.L,.M

X4 M LlL2

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :

McQ
44100955942
441009222696
441009222699
441009222698
441009222697
Answered

4

Q.81 Which of the following is a commonly used light source in modern street light installations?

Ans X 1.Candles
25 2. Incandescent bulbs
&< 3. Fluorescent tubes

" 4. High-Pressure Sodium (HPS) lamps

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100964175
441009255706
441009255703
441009255705
441009255704
Answered

4
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Q.82 BreR FAYuT (phasor representation) & U j-22rT #, shieufes 3ars j2, ___ a1 FReqor st
g1

Ans X 1.0
o 2.1
<31
X 4.v-1

Question Type : MCQ
Question ID : 44100962321
Option 1 ID : 441009248353
Option 2 1D : 441009248351
Option 31D : 441009248352
Option 4 1D : 441009248350
Status : Answered
Chosen Option : 2

Q.83 Which of the following materials should NOT be placed in a microwave oven?
Ans X 1.Glass

< 2. Plastic

25 3. Paper
" 4. Aluminium foil

Question Type : MCQ
Question ID : 44100966235
Option 11D : 441009263887
Option 2 ID : 441009263886
Option 3 1D : 441009263889
Option 4 1D : 441009263888

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.84 During the no-load test of a transformer, the secondary winding is:
Ans X 1. short-circuited

" 2. open-circuited
25 3. connected to a load

&5 4. connected in parallel with the primary winding

Question Type : MCQ
Question ID : 44100961952

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

441009246870
441009246871
441009246872
441009246873
Answered

1
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HafSgl
A 1km M 1k[ﬂ B

.
- -

|1 :1[:][}_.5[ |2:1U[}A
pf=08 pf=1
Ans X 1.210+j15

Q.85 2 km & Uk f&iver-thet f3wdiegex &t @img=t ufdenen (0.2 + 0.3)) Q/km &1 I8 Yo SR W @IS
SMTfef e 8, STET dteedT Vg, 100 V & 31X Geheh 21f<h T[0TeR R 9RT 100 A &1 39 sifafk=h, 39
A foig uR 0.8 uz=IRT 21f<h TUTek U= 100 A T @S ST gor &1 A foig wR aieear urd &Y Torr

< 2.120+j15
2< 3.110+j15
o 4.120 +j30
Question Type : MCQ
Question ID : 44100957643
Option 11D : 441009229442
Option 2 ID : 441009229440
Option 3 ID : 441009229439
Option 4 ID : 441009229441
Status : Answered
Chosen Option : 2
Q.86 fA=rfaf@a & @ &=-a1, PMMC T3 <Rl Teh &1 gl &2
Ans X 1.3 gunefar
o 2. AC 3R DC ATUH & g Iugh
X 3. Qe
X 4 = fagd @ua
Question Type : MCQ
Question ID : 44100955805
Option 11D : 441009222176
Option 2 1D : 441009222178
Option 31D : 441009222177
Option 4 ID : 441009222179
Status : Answered
Chosen Option : 2
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Q.87 AT F yHT H, TAgea uRUY H ____ A« gtar 81
Ans o 1. UfCRIY & GHMIGR o B Teh oRT 91

X 2. ufoRYees & 91y oft e H Teh oRT A
2 3. ufoRiues & IHMIGR S8 | Teh dleedT Aid
X 4. ufaRYees & ary Joft ohd | Uah dieedr did

Question Type : MCQ
Question ID : 44100962075
Option 11D : 441009247326
Option 2 1D : 441009247329
Option 31D : 441009247328
Option 4 ID : 441009247327
Status : Not Answered
Chosen Option : --

Q.88 Which of the following is a common internal fault in transformers?
Ans & 1. Winding inter-turn short circuits

& 2. Excessive cooling system efficiency
2% 3. High power factor leading to overheating

25 4. Overvoltage due to lightning strikes

Question Type : MCQ
Question ID : 44100963598
Option 1 ID : 441009253404
Option 2 ID : 441009253405
Option 3 ID : 441009253406
Option 4 ID : 441009253403
Status : Answered
Chosen Option : 1

Q.89 YR uferter Rb, HuTgeh "faRie Re 3R mgfef aieedr Vee & @ CE fa=amer # NPN BJT gifSiex
T ITATT R §T Gk Fraa araw ulRoy w R &)1 af B, BJT i urr «@fed 8, at Fraa sraw
gRuywremBaqoes 00 |

Ans X 1. & af & gcRAud gidT &
X 2. B & HRATUT! T &
X 3. pATAT g
o 4. B & STIREIUT g1 8

Question Type : MCQ
Question ID : 4410091576
Option 11D : 4410096300
Option 2 ID : 4410096298
Option 31D : 4410096299
Option 4 ID : 4410096297
Status : Not Answered
Chosen Option : --
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Q.90 BJT &t f@== aret @ Haifda It s Y ug=n= &3
Ans X 1.BJT & fa+ aret MOSFET W &g+ arer § aifdras gt 31

Tt PRI HISG 81 6
o 3. BJT &I {99+ I1ef MOSFET W &= a1et &t g1 | %A gieli gl
X 4. BJT &t fa== amet MOSFET WR &=+ 97t & SRR gl 81

X 2. BJT Gk vaeeh gfth & 3R 3aforg & & &9 & ohf 81 o Fehel 5| 6, BJT & forg fe@=m

Question Type : MCQ
Question ID : 4410091571
Option 11D : 4410096279
Option 2 ID : 4410096280
Option 3 ID : 4410096277
Option 4 ID : 4410096278
Status : Answered
Chosen Option : 2
Q.91 The total collector current for a BJT operating in the active region is given by the relation
and the leakage current component is .
Ans X 1.lc = Ic(majority) + Ico(minority); majority carrier component
5 2. lc = Ic(majority); minority carrier component
25 3. Ic = Ico(minority); majority carrier component
& 4. Ic = Ic(majority) + Ico(minority); minority carrier component
Question Type : MCQ
Question ID : 4410091582
Option 11D : 4410096322
Option 2 ID : 4410096323
Option 3 ID : 4410096324
Option 4 ID : 4410096321
Status : Answered
Chosen Option: 1
Q.92 Shaded pole motors are ideal for
Ans X 1. high-vibration environments
X 2. precision speed control
" 3. low-power, continuous-duty applications
25 4. intermittent heavy-load tasks
Question Type : MCQ
Question ID : 44100958576
Option 11D : 441009233196
Option 2 ID : 441009233195
Option 3 1D : 441009233193
Option 4 ID : 441009233194
Status : Answered

Chosen Option : 1
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Q.93 When armature conductors carry a lower load current, the armature's MMF (magnetomotive
force) causes:

Ans X 1.the main field flux to strengthen

/5 2.anincrease in the induced emf
25 3. no effect on the main field flux

«# 4. a cross-magnetising effect

Question Type : MCQ
Question ID : 44100954518
Option 11D : 441009217053
Option 2 1D : 441009217052
Option 31D : 441009217050
Option 4 1D : 441009217051
Status : Answered
Chosen Option : 2

Q.94 U fthavs araw fdhe & forg smaw TR 1ores (S) @ &2
Ans X 1.S=1/(1+B)

W 2.S=(1+B)

K 3.8=(1+B)/(1+B+p"2)

X 4.8=B/(1+B)

Question Type : MCQ
Question ID : 4410093353
Option 1 ID : 44100913421
Option 2 ID : 44100913420
Option 31D : 44100913419
Option 4 ID : 44100913422

Status : Answered

Chosen Option : 4

Q.95 AC uRuy-faesivor & Tfar fafr (vector method) & Hsiy & fA=ifaf@e @ wi9-91 s 9&t A1
&?

Ans o 1. I RIS o thor, affier da 7 afgomad f&m & guH axar g1
X 2. Tfeer fafd, aeear ofiR ary & offwr e iR RufRa seat & Tgraar st g1
X 3. thoR SRl T IuaT ufderer ¥ i AC 4Rt IHmai @t ga e o forg fohar S g
X 4. Tfer fafdr a1 IuahT sarashia AC it et et e & forg fopan sman g1

Question Type : MCQ
Question ID : 44100962405

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status :

Chosen Option :

1 441009248689
: 441009248690
1 441009248691
1 441009248688

Not Answered
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Q.96 What is the first step in the design procedure for electrical installations in commercial
buildings?

Ans o 1. Conducting a load analysis to determine power requirements
/5 2. Ignoring safety standards to reduce costs
2% 3. Installing protective devices without planning

#< 4. Selecting decorative lighting fixtures

Question Type :
Question ID :
Option 11D :
Option 21D :

Option 31D
Option 4 ID

McQ
44100963944
441009254782
441009254783

: 441009254784
1 441009254781

Status :
Chosen Option :

Answered
1

Q.97 Universal motors exhibit high starting torque due to

Ans X 1. permanent magnet stators
25 2. use of squirrel-cage rotors
4" 3. series connection of stator and rotor windings

2 4. shunt winding configuration

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100956717
441009225725
441009225724
441009225722
441009225723
Answered

3

X 1.6kw
X 2.12kw
2 3.10kw
& 4.8kw

Ans

Q.98 af ger 3-thet WoTTet T 21f<h ToTeh 0.8 &, FT smyTehi 21k 10 kVA &, &t sifeh 1fs e @2

Question Type :
Question ID :
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

Status :

Chosen Option :

McQ
44100959989

: 441009238895
: 441009238898
: 441009238897
: 441009238896

Answered
4
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TG EUA SIS T gl g Afaeni gl
X 1. cafeera ufaset &1 qurHhe

X 2. fsera ufesewt & I o Zerd

< 3. garef 1 o ufsesst &t i A

o 4. afteTd ufasent & g

Ans

Q.99 fA=-fA== urv=raT are i f9==1-fa= daehta geraf @ o+t e SaifSa gadhia auRuy &t g

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960003
441009238954
441009238953
441009238952
441009238951
Answered

2

Q.10 92 99 & R 1.t Fa=1 #, T Al | deet 37aé i g | 871 gz vienfih ot
0 yrufAerar st & et @2

& 1. 98 3= gieear DC ffa Iaga = 81

o 2. I8 AT SR I8 & HROT g1 ateft AfRT g1 i v Fear g

75 3. 35 oI oA Srer T STTaaehdT gidT & 3fR SHERT SIRET0T STETH BT &
X 4.9 AC HhafchT &Y TaTehd hl THTE HaT &1

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100961761
441009246245
441009246242
441009246243
441009246244
Answered

3
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